2.378 g/cm3

cm3 /cm3

B E =D-C F = B/E |G=(1-F/A)><100

1158.9 672.7 1159.2 486.5 2.382

1162.0 673.2 1162.3 489.1 2.376

6/16 11474 665.2 1147.7 4825 2.378
2.379 3.800

1163.3 674.4 1163.6 489.2 2.378

1154.0 669.5 1154.2 484.7 2.381

6/16 1157.7 670.5 1158.0 4875 2.375
2.378 3.800

1149.8 666.9 1150.0 483.1 2.380

1154.6 668.5 11549 486.4 2.374

6/17 1150.3 666.5 1150.6 484.1 2.376
2377 3.90

1156.1 669.8 1156.4 486.6 2.376

1164.5 675.7 1164.8 489.1 2.381

6/17 1146.8 664.9 11470 482.1 2.379
2.379 3.80

=2.378 g/cm3 = 2474 g/cm3




20 06 16
1.034 g/cm3 104

cm3 g/cm3 | g/cm3 K/N | 1/100cm

> > > >

h ><100 100 0.0098
6.10 1158.9 672.7 1159.2 486.5 2.382 90.0 936.0 37.0
6.20 1162.0 673.2 1162.3 489.1 2.376 92.0 956.8 320
6.8 6.00 11474 665.2 1147.7 482.5 2.378 93.0 967.2 35.0
2379 2474 15.645 3.800 19.445 19.45 953.3 34.7
6.00 1163.3 674.4 1163.6 489.2 2.378 94.0 977.6 34.0
6.10 1154.0 669.5 1154.2 484.7 2.381 90.0 936.0 35.0
6.8 6.20 1157.7 670.5 1158.0 4875 2.375 92.0 956.8 36.0
2378 2474 15.639 3.800 19.439 80.45 956.8 35.0

=2.378 g/cm3 = 2474 g/cm3
2 3






